



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\frac{1}{3} + \frac{3}{4} \left(\frac{1}{2} - \frac{1}{3} \right) =$$

$$36 \left(\frac{1}{3} - \frac{1}{4} \right) \div 4 =$$

$$\frac{1}{2} + \frac{1}{4} \left(\frac{1}{3} + \frac{1}{2} \right) =$$

$$(33 \div 11 - \frac{2}{5}) \times \frac{1}{2} =$$

$$66 \left(\frac{1}{2} + \frac{3}{4} \right) \div 11 =$$

$$10 \left(\frac{1}{2} + \frac{1}{3} \right) \div 2 =$$

$$60 \left(\frac{3}{2} - \frac{1}{2} \right) \div 6 =$$

$$70 \left(\frac{3}{2} + \frac{1}{5} \right) \div 10 =$$

$$\left(\frac{1}{6} + \frac{2}{3} \right) \times \frac{1}{2} + \frac{3}{5} =$$

$$\left(\frac{1}{2} + \frac{2}{3} \right) \times \frac{2}{3} - \frac{1}{2} =$$